Anlage A 121

Seite 1

Wohnhaus Schnitt

%
=

Y,

H:l Pos1
Einspeisepunkt (EP)
oder Ubergabepunkt (UP)

777770 ——Y 77707 —— 77—

2,5

2,5

2,5

7000000000000

7770000000000

V0000000000000

4 Dachgeschoss

3 Obergeschoss

2 Erdgeschoss

1 Kellergeschoss

7777070000070 7777070007777777

7

7777770070777

)



Anlage A12.

Seite 2

Grundriss Dachgeschoss

0,2

3.9 0,1

2,2

0,1 2.0

0,2
0,2

2,2

0,1

5,3

N\N\\N

Zimmer 1

N\\\N

/
\

N

NN

INNNNNN\\\N

-

/V 0
J wcC

7 FA
. i f
; ]
@ / 2
% Diele %
_E Pos4 / ¢D
/ 71
4 -
5 7777777777777 777777 777777777 77777777777/ 77 V777777 777777777777 777777777

3,2

A A

Zimmer 2

Y

0,2




Anlage A12.

Seite 3

Grundriss Obergeschoss

0,2

4,0

0,2

44

0,2

Al / A/_V 2 %
) Schlafzimmer 2 /
. 7 %
/ g X/
% 7
- /
7 / \ m@)
é / L/ /7. / /////////////////////a
e 5 Tl
— ///////////////////////////////Q \ e
T e -
? Wohnzimmer 2 ﬁ 7/
sV Tz )
z W /
. A Kiiche 2
L %
- ; 7 Z ) .

0,2

Balkon




Anlage A12.

Grundriss Erdgeschoss

? . ; % %
\
) o 2|
© Z
] Kiche 1 / / \ h&)
? Z 7/////////////////////a
1 : &)
sl ;//////////////// - .
/ _E Pos2 7 // 7‘
Z
/ NI -
S 7 Wohnzimmer 1 '// 77777 7777777777 //
. / Y /
™ A J Schlafzimmer 1
A %
=1 2 .7
/ 7 %




Anlage A12.

Seite 5

Grundriss Kellergeschoss

0,2

3,9

0,2

0,2

o

,2

21 1.8

0,2

0,2

A7

4,0

0,2

4.4

0,2

2,2

0,2

2,9

0,2

0,2

43

NN

Z
)
Keller é
g %
/ DL,
/ / /
Z
? 7 é Keller
/ % 4
. o’ \
Z
Pos1 7
oo \ / j
7 % 77777 )
? / ?
7 ) /
? Waschkiiche é
Z )
Z
7
| %
Z
é
)

——— 7




